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Today we will 7”va learn 7 97 of 713 ndon
Some of the topics we will learn about include.

Several questions regarding

DY DY INRS P10

M DWHY P13 WOV

A person who states that a w5 m1i shall take effect
after 20 days - and a second m713 should take effect
immediately;

Is the second M1 put-off until after the first m i is
completed, or NOT?

The Machlokes wpb v 13mv 27 regarding

13212 RPVI

If he becomes 8o during the days of 132 m1), are the
preceding days of >w M1 also cancelled?

The Machlokes w1 27 regarding

WY 9172 D1 RHVI

If he becomes xnv after the initial 30 days - in which he
must wait for his hair to grow in - do the initial 30 days
cancel?

The Halachah of

P10 T

b RpoS P MW 55 MoR

A Nazir who completed the days of m13is liable for ALL
three Issurim until he brings his Korbanos.

Some of the terms and concepts we will learn about
include

oy Sn mno Ww M PR
A Nazir must grow his hair for the minimum of 30 days.
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So let's review ...

In the previous Daf, the Mishnah discussed the case of
12°0 PIPwI 1IN

RN

A person who stated: I take-on m711 for a son and a mn
for myself.

150 DR I NN

1215 79 91N

He began to observe his m~13, and he had a son before his
m1 was completed.

15V DR I

1250 DR "M

150 R DU MR

He must suspend 15w mt1 and begin counting 132 m13 as
soon as his son is born, because

RWM2 5P N2 M

He accepted 12 m first.

And afterwards he completes the remaining days of m1
Dw.

N17°V1

1 DOV M)

In a case of a person who accepted two m11 of 30 days
each in the following manner;

DY DY INRS P10

D DWHY PRI PWIVM

I take-on a owHw M7 that should take effect after 20
days, and I take-on a second ow5w m13 that should take
effect immediately. Do we say?

o RS

The second m711 does NOT take effect immediately, only
after he completes the initial m~11 because, as Tosfos
explains,

PrOw RS PIwYa

He cannot complete the second m713 before 20 days when
the initial M1 takes effect; and

man P’DDH‘? YT PR

He does NOT want to split-up the days of the second
m1, by completing the remaining 10 days after he fulfills
the initial M 1. Therefore,

39 V7 0V OV INYT

His intention was that there shall be NO m11 at all for the
first 20 days.

OR

roon

The second m711 DOES take effect immediately, because
M oo MY

He DOES want to split-up the days of the second m713, in
which he completes the remaining 10 days after he fulfills
the initial m~1. However

DIV NR DOV MRS

PIIIIP R OO 19D

He cuts his hair and brings Korbanos for both, only after
he completes the second m713, because if NOT,

W DR [ 0N

He would have to repeat ALL 30 days of the second m13,
because

or '5n mno Www M7 PR

A Nazir must grow his hair for a minimum of 30 days.

'\)’)/é/\/
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Because
M?p g;’) \//,a /)/7y

PY R/ A
?/3)//_/)/}///‘/_/)/7y
0 DMWY INRY PTIPIN
DWHOW 7 PWOYN)
NV

]"7”11 P'pnn N
The second M1 The second M1
DOES take effect does NOT take effect
immediately immediately

Because Because,
A7) /')'oas)/w}/? /,/./ﬁ ;2;%

However

Pflnt I ] g prooa] v
PP ’!"":’/‘///’3)'%/’@/ Therefore,
Y8 1> P 50 1oyz
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The Gemara continues: Even if we assume that regarding
a

nOYIN MM

YWY HMIPR

Because

MV 0902 MYT PR

NOIT POV VYT

mINY RMRS

He does NOT want to split-up the days of m13, because
the remaining 10 days cannot produce sufficient
hair-growth, and

PORIN TP IR I

DIV PR D2URW RS T

He would need to put-off the Korbanos of the initial mv13
until after the second m713 completes.

But in a case of 7217 M1, in which he states

DY DWY RS 37777 DR

DOV NRD PWIYD

I take-on a wHw M1 that should take effect after 20
days, and I take-on a m711 of 100 days, that should take
effect immediately. Do we say?

PO IR

The m711 0f 100 days does NOT take effect immediately.
Because

oW RS PIwYa

AND

M1 P09 NPT PR

OR

]7577“

Because

mMP1a ooy YT

NOIT PRV PIRNT

mTHo RN

He DOES want to split-up the days of m13, because the
remaining 80 days ARE sufficient for a minimum mn
ow5w; and therefore

ORI MIIP RO IR

He can bring the Korbanos of the initial mv11 after its
completion.

The Gemara continues to ask;

Y1 5" IR

As Tosfos explains; even if we assume that

DOV MR P W M P2

PWOYN SN

Because

K799 POOTT I RD

RI7DT 0

The second m713is NOT considered split-up, because
both m are of the same sort. But what would be if he
states

oy’ RS PPN

o> 13 PWOYD

I take-on a owHw M1 that should take effect after 20
days, and I take-on a 051w M7 that should take effect
immediately.
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Ina case of
12170 M1
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The Gemara continues to ask;

571 5" IR

As Tosfos explains; even if we assume that

DOV MR P AW M P

PWIVH N

Because

T POOI RS

RI DT N0

The second m711is NOT considered split-up, because
both mt1 are of the same sort. But what would be if he
states

o '3 INRY TR OYIN

D9 TN POV

I take-on a wbw M1 that should take effect after 20
days, and I take-on a 051w M1 that should take effect
immediately. Do we say?

PWOVH SN IPR

Because

55312 RV IR

OO

The second m11 IS considered split-up, because both
myare NOT of the same sort, because

DWHw T

DWHW RS PR KM AN

A typical Nazir cuts his hair completely, while a

oo TN

TWRI T21

Wwnadpn

PP R

A Nazir 0», only trims his hair that is burdensome.

OR

PWIVH SN

Because nevertheless
M1 oo YT

And even if we assume that

PWIYH 5N

Because

POOTIPR

DIVIPRY TWORT

The o9 m~11is NOT considered split-up, since it can be
fulfilled consecutively if he would nullify the owbw mi
through a 0on 9mi. But what would be if he states

DY DMWY RS PUBY P3P0

DNO PN PWIVI

I take-on a pwnw M that should take effect after 20 days,
and I take-on a 'w5w M1 that should take effect
immediately. Do we say?

5MIPR

The owbw M1 does NOT take effect at all, because
POON N

DIVIPRY TWOR K77

The owbw M1 would terminate after 20 says, since the
pwnw Mt then takes effect for his whole life, and it
cannot be nullified through a 0on m7,

OR

or owYb SN

The ow5w M1 DOES take effect for 20 days, because
mY™a Poon> YT
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. The Gemararesolves the second question of 713397 IR
DY OIWY MRS
DY 7IRD PWIYN)
from a Braisa that explicitly rules
DY DY RS 1IN
DY IRD PWIYN)
DY NN

DWHW 7 IR NI
DY A IIRY Tl

A 2y 2YY AR 9N AN
BY FIND 1ROY

oYY MM
2o M 9N

D'3IAY M3 9N
MNP 2ORS 1

The Gemara next refers back to our Mishnah'’s case of
12°5 W T rIn 3’)/&/

U

And 1299 IS M N
HY DR I SN 2%y

1212 T 2"NR)

The Halachah s o AN v Srnn
W NR I "

1250 DR M I: "7 .lbu ="NNY

HY DR DHYWN YR

Yo AN 1Y
12 5% AN M
o AN DO 9N
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Now, what is the Halachah if
12712 RDV)
He became xnv during the days of 112 m1.

IMO MR PV 127

nny a7 says ALL the days of both, 132 mia and Do mm,
are cancelled, and he must repeat ALL the days of both
m713, because

N7 RNDIR MPIIRTN

They are considered ONE m713, because

YW MY DYV RY

He did NOT yet complete the days of 15w m11. However,
Tosfos adds;

[Aiali= R Faile)

150 W 172 RPVI DR

12 MR MO PR

130 227 agrees that if he became Riv during the final days
of 5w M1y, only the initial days of 'bw mnare
cancelled, howeverna mis NOT cancelled, because
Pagslaiiifativhibb)

He DID complete the days of 132 ma.

IR WPH WM

IO PR

wpb v disagrees and says that only 112 m7n is cancelled,
but >w M1 is NOT cancelled. Because

NS PTT MP

piiarRaia=hil

They are each considered a separate m 1.
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What w the Hilichih if
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Because
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The Gemara continues with a related Machlokes:

WY D173 DY RDV3

As Tosfos explains;

This is a case of a standard wHw M1, in which
pYalinRakGivtoRiniispioY

A bandit cut off his hair on the 20th day.

First, he must first continue to observe the next 10 days as
part of his original m~11. Then, he must wait another 20
days - during which he remains a Nazir - before he can
bring his Korbanos, because

oy on mno Ww M1 PR

A Nazir must grow his hair for the minimum of 30 days.
These 20 days are called 7w 573 Dv.

Now, if

WY D172 D12 RHV]

He became xnv in those last 20 days.

IR

IO IR

Y2 10K

27 says that even 13nv °27 would agree that the previous

days are NOT cancelled, because

WY NTA

i Faip s T plioka)

The original m 1 was already completed. He’s merely
waiting to achieve a 30-day growth of hair. While in the
case of

112712 RV

DY MY DU N>

MR SRIHYY

IO

U PR e PRPIINS

SNipw disagrees and says that even wph w3 would agree
that the previous days ARE cancelled, because

RO

RITPTI RN

The days of 7yw %172 are a continuation of the initial m.

onn

mnY

While in the case of 11212 Riwv1 they are each considered
a separate M7,

DafHachaim.org

W NI D12 RNL]
'S OP3 DYDY 10N
He observes the next 10 days
and another 20 days
He became tpid in thase last 20 /a%/

IR HRINW MR

IMmo IM0 1R

WIPH WY 1DR 1301 "27919°DR

Because Because
NON W N7
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The Gemara continues

RI’I 2720 "7 says

11500 T

ARDIVA Y 7S

1150 R nnoann Sy b R

A Nazir, who completed the days of m713but did NOT yet
bring his Korbanos and cut off his hair, is liable for the
Issur of N nrmw. But he is NOT liable for the other
Issurim of nrvan and 1 n”nw, because the Pasuk states
DIRNO Y192 POV Nn M °3)

M INITO OPIIVRI 19N 17 WRI RDVY

Which teaches that

WRIIZ MMM N

One is liable for the Issur ixmY, even when his m11 only
pertains to cutting his hair, such as a v 151550 1.

However the Gemara cites a contradicting Braisa that
states

P12 150w 1

onnb RpOS P MNwH A5 MoOR

DNPS ROV P ANWI N2 OR)

DVAINT DR IO 1

A Nazir who completed the days of m= 1 is liable for ALL
three Issurim, for which he receives mpbn, because the
Pasuk that refers to R states

R’ RD 1D W3 Y 'Y 1A D

And the Pasuk that refers to nnbn states
ORI Y 113207 RS NI T 5

And the Pasuk that refers to 7’ n»nw states
711930 WY TR 51 1703 1> 5D

The word b5 in each Pasuk teaches

D720 IR IROW 071 MWYH

nROD 105V

These Issurim remain in effect for ALL days until he
brings his Korbanos.
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The Gemara cites a corzfm/z'a‘m?/ Braisa
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The word /5 in each Pasuk teaches
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